In the figure,

Similarities — Parallel Lines & Proportional Parts

. Complete each statement.
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_Using the figure, determine the value of x that would make

under each set of conditions. F
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Similarities — Parallel Lines & Proportional Parts

Homework Section 7.4

Using the figure, determine the value of x under each set of
conditons.
#12) BD// AE , AB =6, DE =8, DC = 4, BC = x
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#14) If B, D, and F are the midpoints of sides C4, CE, and
AE respectively, BD =7, BF = 12, and DF = 16, find the
perimeter of AACE. What is the ratio of the perimeter of

ABDF to the perimeter of AAEC? -
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#15) If B, D, and F are the midpoints of sides C4, CE, and
AE respectively in AACE, BD = 8, CA = 10, and DE = 4, find DF,
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#16) In Forest Park, the home lots are laid out as shown.
What is the individual frontage of each lot on Piano Drive if
the total frontage on the drive for the five lots is known to be
350feet?
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#15) DF=5,AE=16,BF=4
#16) w~77.8ft, x~84.3ft,y=90.7 ft, 2= 97.2
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